JIGHET e SCRREE S HBAM (GAITTE10A)

£ | A| B |ZHEES i = ZHEE (M)
| 10| 2|%e 2AARNEHIBERBESAE BIRERERS HE 10,000
st| 10| 13|H& RETBREHESR HE 5,000
st| 10| 13|He EETHRRBESE HiE 5,000
st| 10| 14|fH% NIGETEANVS D EARERS] #HiE 5,000
sT| 10| 18|#H% BLEESE HE 5,000
st| 10| 19|He HOAMRIZ+ATEFE] HiE 5,000
st| 10| 20|%% FROBEHES & 5,000
| 10| 21|fH% EERNESE fHE 5,000
st| 10| 24|2%& 2EIXEHRRESERX RS 2B 5,000
st| 10| 26|%& FIEREFEDY HiE 5,000
| 10| 27|%$ KETTRERYISURT LIRS HiE 5,000
st| 10| 28|f%& 2AARENE)IGELERIGESGARTE iR 10,000
sT| 10| 31|#H2 JIEFCENETERE HiE 30,000

= 134 100,000




